FIFO to 12S CPLD

(1) FIFO to Reqgister operation

CLK
2.822MHz,354ns/cycle

FIFO Avail 1
FIFO#

LATCHED

STATE [R44|R45]R46]R47]R48] R49] R50[ R51[ R52| R53] R54| R55| R56 64 state, by 6bit counter
|

RD# ! RD# = (FIFO# & R45) or (FIFO# & R47) or (FIFO# & R49) or (FIFO# & R51)
'

D7-0(FIFO OUT) ) LL LH RL RH
| ! I LL Register <= 0 (FIFO# = 1 and R45)

LL Register i | LL Register <= D7-0 (FIFO# = 0 and R45)
' 1 LH Register <= 0 (FIFO# = 1 and R47)

LH Register [ LH Register <= D7-0 (FIFO# = 0 and R47)
' | RL Register <= 0 (FIFO# = 1 and R49)

RL Register i RL Register <= D7-0 (FIFO# = 0 and R49)
H ! RH Register <= 0 (FIFO# = 1 and R51)

RH Register H RH Register <= D7-0 (FIFO# = 0 and R51)
[

(2) Register to Output (Left)

CLK R A e e
2.822MHz

STATE [Lo1[ro2[Lo3]L04 L0506 [Lo7 [rog[rogfriofr11r12[r13]r14]ra5]L16 17 L1819 20 L2122 23 24 25126127 L2829 1L30]L31[L32[R33
LRCK(out) | [
SCK(out) Ly e e e e
SDOut [msH [LsB]

LHO7 LHO6 LHO5 LHO04 LHO3 LHO2 LHO1 LHOO LLO7 LLO6 LLO5 LLO4 LLO3 LLO2 LLO1 LLOO
SDOut = LH.07 (State = L02)

(3) Register to Output (Right)

CLK [ A e 6 O A I
2.822MHz

STATE [R33]R34]R35]R36] R37] R38]R39] R40] R41[R42] R43] R44] R45] R46] R47]R48] R49] R50[RE1 R52] R53] R54] RES[ R56|RE7] RE8] R59] RE60 RE1] R62] RE3[ RE4] LOL
LRCK(out) [ L
SCK(out L e e e e e e e e e e e e e e
SDout [msH [LsB]

RHO7 RHO06 RHO5 RH04 RHO3 RH02 RHO1 RHO0 RLO7 RLO6 RLO5 RLO4 RLO3 RLO2 RLO1 RLOO

Supposed Circuit Diaglam
XC9572/44PLCC, $3.5

any MCU D7-0 FIFO D7-0 CPLD LRCK
interface DAC
as
you SCK
want
<::> Write Read# SDO
at least WEnable REnable#
176.4KB/s W
MCU will writes PCM data, 8bit width T
by order of Read Enable Flag MCK
Left Lower / Left upper Read# signal Oscilator
right lower/ right upper byte 11.288MHz




